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In this picture, | can see some money. In this picture, | can see the sky.
There’s another man. There's a bridge.
There’s a table. The man is attached to a rope.
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In this picture, the man is happy. In this picture, | can see two chairs.
There’s a book. The man’s wife is in the picture.
There’s a weighing machine. There's a small animal.
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In this picture, the man is in pain. In this picture, the man is at home.
There’s another man. He isn't alone.
They're sportsmen. He’s got two young children.
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In this picture, it's impertant that the man In this picture, the man is kissing
is very quiet. something.
He’s in a wild place. He made it.
There’s a big animal. It moves very fast.
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